Principles of Economics|: Microeconomics Midterm [11/14/2008]
Part I. Multiple Choice (15 questions, 15%)

1. The opportunity cost of obtaining more of om®dj is shown on the production possibilities
frontier as the
A. amount of the other good that must be given up.
B. market price of the additional amount produced.
C. amount of resources that must be devoted fwratduction.
D. number of dollars that must be spent to prodiice

2. Which of the following isiot a positive statement?
A. Higher gasoline prices will reduce gasoline agnption.
B. Equity is more important than efficiency.
C. Trade restrictions lower our standard of living.
D. If a nation wants to avoid inflation, it will s&rict the growth rate of the quantity of
money.

3. In a market economy,
A. supply determines demand and, in turn, demaretmidnes prices.
B. demand determines supply and, in turn, supplgrdenes prices.
C. the allocation of scarce resources determinesgand, in turn, prices determine supply
and demand.
D. supply and demand determine prices and, in fuioes allocate scarce resources.

4. Other things equal, the demand for a good temte more inelastic, the
A. fewer the available substitutes.
B. longer the time period considered.
C. more the good is considered a luxury good.
D. more narrowly defined is the market for the good

5. Eric produces jewelry boxes. If the demandjéovelry boxes is elastic and Eric wants to
increase his total revenue, he should
A. increase the price of his jewelry boxes.
B. decrease the price of his jewelry boxes.
C. not change the price of his jewelry boxes.
D. None of the above answers is correct.

6. If the cost of producing sofas decreases, tlhasumer surplus in the sofa market will
A. increase.
B. decrease.
C. remain constant.
D. increase for some buyers and decrease for bthars.

7. Which of the following statementsrist correct about a market in equilibrium?
A. The price determines which buyers and whichesglparticipate in the market.



B. Those buyers who value the good more than tise phoose to buy the good.
C. Those sellers whose costs are less than the graose to produce and sell the good.
D. Consumer surplus will be equal to producer sigpl

. Suppose that policymakers are considering mdgaitax on either of two markets. In Market
A, the tax will have a significant effect on thager consumers pay, but it will not affect
equilibrium quantity very much. In Market B, thensatax will have only a small effect on
the price consumers pay, but it will have a larffect on the equilibrium quantity. Other
factors are held constant. In which market will tioe have a larger deadweight loss?

A. Market A

B. Market B

C. The deadweight loss will be the same in bothketar

D. There is not enough information to answer thesgjon.

. Assume, for Canada, that the domestic pricstesdl without international trade is higher than
the world price of steel. This suggests that, eghoduction of steel,
A. Canada has a comparative advantage over othetrees and Canada will import steel.
B. Canada has a comparative advantage over othatrs and Canada will export steel.
C. other countries have a comparative advantage@meada and Canada will import steel.
D. other countries have a comparative advantage©@aeada and Canada will export steel.

10. The world price of a simple electronic calcotds $5.00. Before Singapore allowed trade in

calculators, the price of a calculator there wa®®&4O0nce Singapore began allowing trade in
calculators with other countries, Singapore began

A. importing calculators and the price of a caltotan Singapore increased to $5.00.

B. importing calculators and the price of a caltadan Singapore remained at $4.00.

C. exporting calculators and the price of a cakoulan Singapore increased to $5.00.

D. exporting calculators and the price of a calmrlan Singapore remained at $4.00.

11. Denmark is an importer of computer chips, tgkime world price of $12 per chip as given.

Suppose Denmark imposes a $5 tariff on chips. Aesalt,
A. Danish consumers of chips and Danish produdeckips both gain.
B. Danish consumers of chips gain and Danish preduaf chips lose.
C. Danish consumers of chips lose and Danish peyduaf chips gain.
D. Danish consumers of chips and Danish produdeskips both lose.

12. An optimal tax on pollution would result in whiof the following?

A. Producers will choose not to produce any padhuti

B. Producers will internalize the cost of the pbdn.

C. Producers will maximize production.

D. The value to consumers at market equilibrium @xceed the social cost of production.

13. The Coase theorem states that

A. taxes are an efficient way for governments toedy negative externalities.
B. subsidies are an efficient way for governmeatetedy positive externalities.
C. industrial policies encourage technology spgiev



D. in the absence of transaction costs, privatégsacan solve the problem of externalities
on their own.

14. Suppose that the cost of installing an overhmedkestrian walkway in a college town is
$100,000. The walkway is expected to reduce theaidatality by 0.5 percent, and the cost
of a human life is estimated at $10 million. Themoshould

A. install the walkway because the estimated bemsefiice the cost.

B. install the walkway because the estimated beegtials the cost.

C. not install the walkway, since the cost is twice estimated benefit.

D. install the walkway, since the cost of evenralg life is too great not to take action.

15. Refer to Figure 1 below. Which of the followistatements is accurate?
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Figure 1

A. Consumer surplus with trade is $3,200.

B. Producer surplus with trade is $375.

C. The gains from trade amount to $800.

D. The gains from trade are represented on thehgbgpthe area bounded by the points
(0, $12), (300, $12), (300, $7) and (0, $7).

Part Il. Economics in the News

A. (26%) Answer the following questions:
1. (4%) Do you expect vegetable prices to increasieoreasafter a typhoon? Why?
2. (2%) Is the price change due to a demand shiftupply shift, or both? To which
direction(s)?
Read the foIIowing article and answer the othelsq'uas
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3. (2%) Why would one want to jump the gun and buyenggetablebefore a typhoon?

4. (4%) If more people are jumping the gun, how woubdietable prices chandpefore a
typhoon? Explain.

5. (2%) Why would farmers want to jump the gun andvlstr more vegetabldsfore a
typhoon?

6. (4%) If more farmers jump the gun, how would veg&tgrices changeefore a typhoon?
Explain.

7. (4%) According to the article above, how did thaiiglgrium price and quantity of the
vegetable market change before a typhoon?

8. (2%) Plot the demand and supply shifts for the tedgle market before a typhoon.
Indicate which shift is larger (according to yomseers to the previous question).

9. (2%) According to the last paragraph, some vegesablad smaller price hikes than
others. Why do you think this would be possible?
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Answer the Following Questions:

1. (6%) Draw a supply and demand graph and show tfextebf a NT$10 per-pack
cigarette tax on the demand curve for cigaretties, effective price per pack paid by
smokers, the effective revenue per pack receivetdarette companies, and the quantity
of cigarettes consumed.

2. (6%) How does the tax affect consumer surplus afkars, producer surplus of cigarette
companies, tax revenue, and total surplus? Shewtées lead to a deadweight loss.

3. (6%) The news above reports a planned tax hikebldauthe cigarette tax from NT$10
to NT$20 per pack. Would total tax revenue exadtiyble, more than double or less
than double? Why? Would the deadweight loss éxacuble, more than double, or
less than double? Why?

4. (6%) What is the government’'s argument for levyhligher cigarette taxes? Draw a
graph to show how such a tax could achieve thealp@ptimal outcome (where social
benefit = social cost).



C. (35%)F & T [ (S ffr FHAHpUAREF]]

Many students want to enroll in Professor W’s Hples of Economics class at NTU. 100
students in each of the following three groupsiaitially enrolled: Ace group, Medio group,
and Flunk group. Students in the Ace group areager to enroll in the course that they are not
willing to forgo it unless thegach receive a scholarship of NT$100,000. StudentkénMedio
group are less eager to enroll in the course tiegt &re not willing to forgo it unless thegch
receive a scholarship of NT$10,000. StudentsénRlunk group are the least eager to enroll in
the course and they are not willing to forgo it agd theyeach receive NT$1,000 as
compensation. Due to classroom availability, NTanté to reduce the class size from 300 to
150.

1. (4%) If NTU knew the willingness-to-forgo for eastudent, how many students of each
group would it ask to drop the course to reaclovtsrall goal? What would be the total
loss (in terms of willingness-to-forgo) for the dénts?

2. (4) In a more typical situation, NTU would not kndte willingness-to-forgo for each
student. If NTU decided to reach its overall gbgl randomly dropping half of the
students, calculate the expected number of studdnisped from each group and the
expected total loss for the students.

3. (8%) Suppose NTU randomly handed out 150 tradab®llenent permits, and it
happened that exactly 50 students in each grougvest them. If a trading market is
established, who will sell the permits? Who wiliythe permits? Briefly explain why
the sellers and buyers are each willing to do @here did the gains from trade come
from?) What is the total loss (in terms of williregs-to-forgo) in this situation?

4. (4%) Compare the total loss (in terms of willingsss-forgo) in parts 1, 2, and 3. If
NTU does not know the willingness-to-forgo for eathdent, what is the best way to
proceed?

5. (4%) Suppose students have the right to enroll idmt) has to immediately build a
bigger classroom to host all who want to enrolljesa NTU can persuade enough
students to drop the course and compensate tlsseso Suppose further that NTU has to
pay the same amount of compensation to each stitdpatsuades to drop the course.
What is the minimum compensation NTU has to pay etiedent so that enough students
would drop the course? What is the highest classrbuilding cost NTU will pay to
avoid handing out these compensations?

6. (4%) Suppose students have to right to enroll, each student is granted 1 tradable
enrollment permits. If NTU wants to buy back 150rpis, what is the minimum price
per permit it has to pay? Who will sell the periifNTU at this price? What is the total
cost to NTU? Is this less costly than that of p&rt

7. (3%) What is the difference between property rigimtspart 3 and 6? What is the
difference in terms of outcome efficiency? Explainy according to the Coase Theorem,
this result is more or less expected.

8. (2%) Some people might argue that it is “unfairr fNTU to hand out tradable
enrollment permits because “poor students may motle to afford buying them.”
Would this be an issue in part 6? Why or why not?

9. (2%) By creating a tradable enrollment permit mgrié¢TU defined property rights
clearly and lowered transaction cost to realize esogains from trade previously
unavailable. What are some other things that eefit from such a property right and
market creation process?



[Note: Below are for bonus points only (which maot apply if you already score high).]
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Answer the following questions:

1.

(3%) Assume Taipower’s revenue and loss estimat#ioned above is for the whole
year, and infer the total amount of electricity (%) used by all Taiwanese. (Assume
Taipower thinks that the quantity demanded is #raesbefore and after the price hike.)
(2%) What is the (average) price elasticity of &ieity for military families? (You may
use the midpoint method in your calculations.)

(3%) Suppose the price elasticity of electricity flormal households is the same as
military families. If Taipower increases electticprice by the proposed NT$0.64, how
much electricity could be conserved? (Note that e making a different assumption
than Taipower in question 1!)

(6%) Assuming this elasticity is fixed for all qudis, if the ministry of economics
agrees to eliminate the price discount for militeasnily according to the proposed three
year plan, how much electricity (per family andatpivould be conserved in each year?
(3%) What are the possible reasons for these dastéta be inaccurate?

(3%) Suppose we are worried about the well-beinghefpoor who cannot afford high
utility costs. What kind of discount scheme wouyttl propose taking the above facts
into account?



